

## Republic of the Philippines PROVINCE OF ISABELA City of Ilagan

## OFFICE OF THE BIDS AND AWARDS COMMITTEE NOTICE OF AWARD

May 25, 2022

Proprietor
AVES FARM SUPPLY AND
GENERAL MERCHANDISE
Roxas St. District II, Cauayan City, Isabela

Dear Ms. Garcia,

We are happy to notify you that the Supply and Delivery of Various Agricultural Farm Products for the Province of Isabela in the amount of PhP3,280,012.00 is hereby awarded to you as the Bidder with the Lowest Calculated Responsive Bid.

NO.	QTY	UNIT	DESCRIPTION	UNIT PRICE (PHP)	TOTAL BID PRICE (PHP)
25	23	liters	2-4-D Herbicide	₱395.00	₱9,085.00
26	10	liters	2-4-D Herbicide	₱395.00	₱3,950.00
27	5	liters	2-4-D Herbicide	₱395.00	₱1,975.00
29	20	pieces	2-4-D Herbicide	₱125.00	₱2,500.00
30	20	pieces	2-4-D Herbicide	₱125.00	₱2,500.00
31	10	bottles	2-4-D 1/2L/Bottle Herbicide	₱240.00	₱2,400.00
32	5	bottles	2-4-D (1/2) Herbicide	₱240.00	₱1,200.00
33	5	bottles	2-4-D (1/4) Herbicide	₱125.00	₱625.00
34	10	bottles	2-4-D (1000ml) Herbicide	₱395.00	₱3,950.00
35	5	bottles	2-4-D (1L) Herbicide	₱395.00	₱1,975.00
36	5	pleces	2-4-D (1LT) Herbicide	₱395.00	₱1,975.00
37	5	sacks	402 Seeds	₱1,700.00	₱8,500.00
53	4	pieces	BIOSEEDS B1186	₱3,600.00	₱14,400.00
54	5	pieces	Bispyribac sodium	₱1,410.00	₱7,050.00
55	8	bags	BREEDER 50 KG	₱1,950.00	₱15,600.00
56	2	bags	calcium nitrate fertilizer	₱6,500.00	₱13,000.00
67	42	sacks	CHICKEN FEEDS Starter 50kgs/sack	₱1,960.00	₱82,320.00
68	20	bags	CHICKEN FEEDS Starter	₱1,960.00	₱39,200.00
69	8	bags	CHICKEN FEEDS Starter	₱1,960.00	₱15,680.00
70	2	pieces	CHICKEN FEEDS Starter	₱1,960.00	₱3,920.00
71	20	bags	CHICKEN FEEDS Starter	₱1,960.00	₱39,200.00
72	27	bags	CHICKEN FEEDS Starter (20 sacks; 1500/sack)	<b>₱1,960.00</b>	₱52,920.00
74	2	bags	Corn Seeds (9kls/bag)	₱3,000.00	₱6,000.00
75	9	bags	Corn Seeds	₱3,000.00	₱27,000.00
76	9	bags	Cöffi Sééds	₱3,000.00	₱27,000.00
77	9	bags	Corn Seeds	₱3,000.00	₱27,000.00
78	5	pieces	Corn Seeds	₱3,000.00	₱15,000.00
79	5	pieces	Corn Seeds	₱3,000.00	₱15,000.00
80	5	pieces	Corn Seeds	₱3,000.00	₱15,000.00

31	5	pieces	Corn Seeds	₱3,000.00	₱15,000.00
32	20	bags	Corn Seeds	₱3,000.00	₱60,000.00
33	15	bags	Corn Seeds	₱3,000.00	<b>₱</b> 45,000.00
34	30	bags	Corn Seeds	₱3,000.00	₱90,000.00
35	8	bags	Corn Seeds	₱3,000.00	₱24,000.00
36	8	bags	Čorn Šeeds	<b>₽</b> 3,000.00	₱24,000.00
37	8	bags	Corn Seeds	₱3,000.00	₱24,000.00
88	5	pieces	Corn Seeds	₱3,000.00	₱15,000.00
89	3	pieces	Corn Seeds	₱3,000.00	₱9,000.00
90	10	bags	Corn Seeds 18Kg/Bag	₱3,000.00	₱30,000.00
91	10	bags	Corn Seeds 18Kg/Bag	₱3,000.00	₱30,000.00
92	10	bags	Corn seeds 18Kg/Bag	₱3,000.00	₱30,000.00
93	20	sacks	Corn Seeds 8.5kg/Bag	₱3,000.00	₱60,000.00
94	10	sacks	Crack Corn 50kgs/sack	₱1,300.00	₱13,000.00
95	25	bags	Crack Corn	₱1,300.00	₱32,500.00
96	1	pieces	Crack Corn	₱1,300.00	₱1,300.00
102	120	pieces	Drinkers	₱90.00	₱10,800.00
103	45	bags	Duck Layer	₱1,560.00	₱70,200.00
107	10	pieces	FEEDERS	₱130.00	₱1,300.00
115	35	pieces	FINISHER	₱1,900.00	₱66,500.00
116	8	pieces	FINISHER 50 KG	₱1,900.00	<b>₱15,200.00</b>
117	15	boxes	Finisher feeds	₱1,900.00	₱28,500.00
123	9	boxes	Foliar Fertilizer	₱410.00	₱3,690.00
124	35	boxes	Foliar fertilizer	₱410.00	₱14,350.00
125	25	pieces	FOLIAR FERTILIZER	₱125.00	₱3,125.00
126	7	pieces	Foliar Fertilizer	₱125.00	₱875.00
127	20	boxes	Foliar Fertilizer 1kg Red	₱410.00	₱8,200.00
128	20	boxes	Foliar Fertilizer 1kg Yellow	₱410.00	₱8,200.00
129	96	packs	Foliar Fertilizer 1kl Red	₱410.00	₱39,360.00
130	96	packs	Foliar Fertilizer 1kl Yellow	₱410.00	₱39,360.00
131	96	pieces	Foliar Fertilizer, 1L Orange	₱260.00	₱24,960.00
132	106	pieces	Foliar Fertilizer, 1Lgreen	₱260.00	₱27,560.00
133	30	pieces	Foliar Green B	₱260.00	₱7,800.00
134	30	liters	Folliar Fertilizer	· ₱260.00	₱7,800.00
136	15	containers	Fry Mash	₱2,050.00	₱30,750.00
137	10	sacks	FUNGICIDE	₱880.00	₱8,800.00
138	10	pieces	FUNGICIDE	₱880.00	₱8,800.00
139	60	pieces	FUNGICIDE 250 J	₱1,250.00	₱75,000.00
142	78	liters	Fungicide 300 EC , 250ml GA3	₱920.00 ₱785.00	₱71,760.00 ₱7,850.00
144	10	pieces			
146	5 	bottles	Glyphosate (1L)	₱585.00 ₱585.00	₱2,925.00 ₱2,925.00
148 158	24	pieces	Glyphosate GL Herbicide	₱395.00	₱2,925.00
158	10	liters	Herbicide	₱395.00	₱3,480.00
162	7	liters	Herbicide	₱395.00	₱3,950.00 ₱2,765.00
163	15	pieces pieces	Herbicide	₱395.00	₱2,765.00
166	5	bottles	Herbicide (1L)	₱395.00	₱1,975.00
170	10	pieces	Herbicide 1/2 LT 10 gallons	. ₱395.00	₱3,950.00
171	10	liters	Herbicide 1/2Lt	₱395.00	₱3,950.00
173	45	liters	Herbicide 1/2Lt	₱395.00	₱17,775.00
174	5	pieces	HERBICIDE 1L	₱395.00	₱1,975.00
175	10	pieces	HERBICIDE 1L	₱395.00	₱3,950.00
177	5	liters	Herbicide 1Lt	₱395.00	₱1,975.00
178	10	liters	Herbicide 1Lt 10 Gallons	₱395.00	₱3,950.00

				₱4,740.00	₱18,960.00
179	4	boxes	Herbicide 2-4-D 12pcs/box	₱4,740.00	₱120,000.00
80	96	boxes	Herbicide 250ml	₱1,230.00	₱16,320.00
186	68	pieces	Herbicide 500ml	₱395.00	₱30,415.00
187	77	pieces	Herbicide, 1L	₱240.00	₱18,480.00
188	77	pieces	Herbicide, 500ml	₱240.00 ₱240.00	₱17,280.00
189	72	pieces	Herbicide, 500ml	₱395.00	₱23,700.00
191	60	liters	HERBICIDES (D		₱23,700.00
193	5	boxes	Herbicides 2-4-D 12pcs/Box	₱4,740.00 ₱1,000.00	₱32,300.00
195	17	bags	Hog Finisher @50kls	₱1,900.00 ₱1,950.00	₱29,250.00
198	15	sacks	Hog Milk Maker Feeds (50kgs)		₱31,500.00
199	15	sacks	Hog Starter Feeds (50kgs)	₱2,100.00	₱44,100.00
200	21	bags	Hog Starter feeds @50kls	₱2,100.00	₱2,295.00
201	9	sachets	Humus	₱255.00	₱3,825.00
204	15	pieces	Insect control	₱255.00	₱2,295.00
205	9	pieces	Insecticide	₱255.00	₱2,295.00 ₱18,450.00
206	30	liters	Insecticide	₱615.00	
207	20	sachets	Insecticide	₱75.00	₱1,500.00
208	20	bottles	Insecticide/250ml	₱255.00	₱5,100.00
209	4	liters	Insecticide	₱615.00	₱2,460.00
210	10	pieces	INSECTICIDE	₱255.00	₱2,550.00
211	10	pieces	INSECTICIDE	₱255.00	₱2,550.00
212	10	pieces	INSECTICIDE	₱255.00	₱2,550.00
213	93	pieces	Insecticide 250ml	₱255.00	₱23,715.00
214	74	pieces	Insecticide 500ml	₱450.00	₱33,300.00
215	20	bottles	Insecticide (1000ml)	₱615.00	₱12,300.00
216	10	bottles	Insecticide 1/2L/Bottles	₱450.00	₱4,500.00
217	5	liters	Insecticide 1Lt	₱615.00	₱3,075.00
218	40	pieces	Insecticide 250ml/Bottles	₱255.00	₱10,200.00
221	64	bottles	Insecticide, 250ml	₱255.00	₱16,320.00
222	72	bottles	Insecticide, 500ml	₱450.00	₱32,400.00
223	60	liters	INSECTICIDES	₱615.00	₱36,900.00
224	10	pieces	Insecticides 1 LITTER	₱615.00	₱6,150.00
225	5	pieces	insecticides 500 ml	<b>₱</b> 450.00	₱2,250.00
227	9	sachets	Lanatte INSECTICIDE	₱75.00	₱675.00
228	10	pieces	Lanatte INSECTICIDE 100G	₱360.00	₱3,600.00
229	60	boxes	Lannate Insecticide	₱750.00	₱45,000.00
239	8	bags	MILK MAKER 50 KG	₱1,950.00	₱15,600.00
241	5	boxes	Mollucide	₱780.00	₱3,900.00
242	10	pieces	Mollucide	₱780.00	₱7,800.00
243	10	pieces	Molluscide	₱780.00	₱7,800.00
244	10	pieces	Molluscide (1000ml)	₱1,150.00	₱11,500.00
245	82	pieces	Molluscide 1kg	₱420.00	₱34,440.00
246	112	boxes	Molluscide 35gx10pcs	₱780.00	₱87,360.00
247	25	liters	Molluscide snail killer	₱1,150.00	₱28,750.00
249	15	pieces	MOLUSCICIDE	₱780.00	₱11,700.00
250	15	pieces	MOLUSCICIDE	₱780.00	₱11,700.00
251	15	pieces	MOLUSCICIDE	₱780.00	₱11,700.00
252	72	pieces	Moluscide	₱780.00	₱56,160.00
253	350	pieces	Mushroom spawn	₱130.00	₱45,500.00
261	30	boxes	Phosphide	₱3,800.00	₱114,000.00
262	10	pieces	Phospide	₱38.00	₱380.00
279	5	boxes	Quadro 8 Big	₱1,410.00	₱7,050.00

280	10	boxes	Quadro 8 small	₱785.00	₱7,850.00
284	8	pieces	RICE PRO	<del>₱</del> 650.00	₱5,200.00
285	5	sacks	Sacks 2-2-2 Seeds	<b>₱1,700.00</b>	₱8,500.00
286	5	sacks	Sacks C-18 Seeds	<b>₱1,700.00</b>	₱8,500.00
287	2	units	Seeder	₱45,000.00	₱90,000.00
288	Ž	cans	Šeedling Ampalaya @100	₱3,650.00	₱7,300.00
289	500	pieces	seedling BaG (small)	₱10.00	₱5,000.00
291	4	bags	Seedling Bitter Gourd	₱93.00	₱372.00
292	4	packs	Seedling Bottle Gourd	₱93.00	₱372.00
293	4	packs	Seedling Bush Sitao	₱93.00	₱372.00
295	4	packs	Seedling Eggplant	₱93.00	₱372.00
296	2	cans	Seedling EGGPLANT FORTUNER F1 @101	₱2,620.00	₱5,240.00
297	2	cans	Seedling Eggplant seed	₱2,620.00	₱5,240.00
298	2	cans	Seedling KAMATIS @102	₱2,370.00	₱4,740.00
299	3	packs	Seedling Mustasa	₱93.00	₱279.00
301	4	packs	Seedling Pechay	₱93.00	₱372.00
302	4	packs	Seedling Siling Labuyo	₱93.00	₱372.00
303	4	packs	Seedling Sponge Gourd	₱93.00	₱372.00
304	4	packs	Seedling Squash	₱93.00	₱372.00
305	4	packs	Seedling Tomato	₱93.00	₱372.00
306	2	cans	Seedling Tomato seed	₱2,370.00	₱4,740.00
307	1,400	pieces	seedling tray (128 holes)	₱65.00	₱91,000.00
308	5	kilograms	Sesame seeds	₱325.00	₱1,625.00
309	155	pieces	Sicle "KUMPAY"	₱128.00	₱19,840.00
310	2	cans	Sili haba seed	₱1,900.00	₱3,800.00
311	73	pieces	Slam 2.5 EC Insecticide, 1L	₱620.00	₱45,260.00
313	10	kilograms	Snail Bomb	₱780.00	₱7,800.00
314	7	boxes	Snail Killer	₱780.00	₱5,460.00
330	10	pieces	Vendex WP Insecticide (1000ml)	₱1,150.00	₱11,500.00
335	10	bags	vermicast fertilizer	₱325.00	₱3,250.00
336	10	boxes	Vertiko 1 box	₱1,430.00	₱14,300.00
340	78	pieces	Virtako 40 WG Insecticide 10gx10pcs	₱1,430.00	₱111,540.00
342	4	cans	WATER MELON (sugar baby)	₱3,250.00	₱13,000.00
345	2	sacks	Yellow corn @600kg	₱14,580.00	₱29,160.00
346	1,000	kilograms	Yellow Corn	₱24.30	₱24,300.00
			x-x-x-nothing follows-x-x-x-x-x		1
	Total Bid	Price			₱3,280,012.00

You are therefore required within ten (10) days from the receipt hereof to formally enter into contract with us, and to submit the Performance Security in the form and the amount stipulated in the instruction to Bidders. Failure to comply therewith shall constitute a sufficient ground for cancellation of this award and forfeiture of your Bid Security.

RODOLFO T. ALBANO III
Provincial Governor

Received by:

DATE: 5/26/2022